$ 37T 37T
1) AT TATeAT YR 30T ..., QMIET oTeTell . (The gold foil experiment
led to the discovery of the ............. of an atom.)

$afhd 9rearr ( Nuclear model)

MR IT&qraT ( Spherical model)

SolFcled 9r&araT (Electron cloud model)
TelH ST gr&drEr (Electron cloud model)

TR 3ccX

Hafhd YrEaTr ( Nuclear model)

2) QrelTeTdehT 10T F[oTeRd =ggierar wATgr? (Which of the following is not a property of

neutron?)

hgehlAEd 31T, ( Present in the nucleus.)

faegd esear 3erie 3HdTd .( Electrically neutral.)
JEJHAT Weluds 3M8d . Mass equal to that of proton.)

110 JEJHATA .(Negligible mass.)

TR 3ccX

110 JEJHATA .(Negligible mass.)

)TN G ........ 7 gH Tl 3. (Tritium is............ 's isotopes.)



FleeT ( Carbon)

FIIA (Chlorine)
gragistel ( Hydrogen)
ArIeISteT (Nitrogen)

AT e
grasre ( Hydrogen)

4)NIT Fadl ALY ST ST fehell Folerelel HTATG hdTd? (How many

maximum electron can be accommodated in the N shell ?)

50

08
18
32

T 3cX
32

5) o Helgeardl YT 0 3. (.......element has 0 valency.)

graarel (Hydrogen)

qifsg#d (Sodium)
3TfFTSTeT (Oxygen)
3T (Argon)

T 3ccX
33T (Argon)

6) SNATRATY g STAUITHTET Wrellel YT IvTeam fHRAUNA  Hefgedrar 39T

gIdr? ( The age of archeological object can be determined by which of the following

radioactive isotopes?)



#IeaT 12 (Carbon 12)

FldTee 60 (Cobalt 60)
FesT 14 (Carban 14)
38131 (lodine 131)

TS 3
FlesT 14 (Carban 14)

7) RIAANH-33 0] ST, IUBTETA @l IfATHAT Wrelel FATY g3d. R X
3T Y =21 31T FhaAel .. 318de. (The chain reaction in a nuclear reactor

uranium-235 as nuclear fuel is given below. Then values of X and Y respectively are

235,92

236,92
236,95
235,95

TR 3cX
236,92

8) IUTSotdl ATRIT HIGAT FHATUNER eI {ATHc HIuIr T FgUM......... (A

machine that generates electricity on large scale by atomic energy is called ......... )

Tased (Turbine)

fa=3e (Controller)
Taeeh (Moderator)
3107 &7 (Nuclear Reactor)



TR 3k

310T &1 (Nuclear Reactor)

9) FICI AT AT HHAT HITATHS ........ Il Heleleh FULT aTH hell STl ( ........ is
used as moderator for reducing the speed of neutron .)

dRisT (Boron)

Iwrse (Graphite)
HSHIIH (Cadmium)
SReI3# (Beryllium)

TR 3ccX

Iprse (Graphite)

10) golereleTd GEJHT GRIgISIe 37Ul aEHEIIET ..........

an electron is

1500

1600
1700
1800

TR 3cX
1800

time less than that of a hydrogen atom .)

.( Mass of



